8.2

1) 3625
V5%
5V5

3) VY750
¥2-3-53
532-3
536

5) /875
V537
53/7

7) —4396
—4325.3
—4.232-3
-86

9) 6Y112
63247
6237
1237

11) —V112
—V24.7
—2V7

13) V648a2
":/23 . 3442
332342
33/8a2

15) /22473
25 - 7n3
23/7n3

17) 3/224p5
5/25 . 7p5
2p§/7

19) —3%V/896r
—3V27 - 7r
—3.2Y7r
—6V7r

21) —21/—-48v7
—2V/-13 .24 .37
-2--1-2v%32-3v
4v?6v

23) —73/320n°
—73/26 - 5nb
~7-22n25
—7-4n?3/5
—28n23/5

25) /=135x5y3
i/_ls .33 . 5x5y3
-1- 3xym
—3xyw

27) 3/ —32x*y*
3/_13. 25x4yt
—1-2xy 3/22xy
—2xy f4xy

29) 3/256x%y®
3/28x4y6
22xy? 22x
4xy? V4x

31) 73/—-81x3y7
73/_13 . 34x3y7
7+-—1-3xy?3/3y

—21xy? /3y

33) 23/375u%v®
233 - 53u2y8
2 - 5v233u2p?
10v23/3u2v?

35) —3V192ab?
—3326 - 3ab?
—3.223/3ab?
—3 .4 33ab?
—12 V3ab?

37) 63/—54m®n3p’
63/ —13 - 2 - 33m8n3p?
6-—1-3m2np23/2m?p
—18m2np? 32m2p

39) 61/648x5y722
64/23 - 34x5y722
6 - 3xy’/23xy3z22
18xy 3/8xy32z2

41) 75/128h6j8k8
74 27h6j8k8
7 - 2hj2k? V23h?
14hj2k? V8h?




